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Warm up Grade 6

Date: _______

1) Find the product of each and use estimation to predict decimal place.

a) 17.87 x 7 b) 123.45 x 4

Nov. 27



Chapter 3 Decimals Lesson 4 Mult Dec by decimal lesss than 1 Day 1 Okeefe.notebookNovember 27, 2019

a.  3 x 3 = 9    (the correct answer is 8.55)

b.  12 x 4 = 48   (the correct answer is 49.44)

c.  149 x 5 =   100 x 5  = 500
                         40 x 5 =  200
                           9 x 5 =    45
                                        745    (the correct answer is 743.65)
                          

12.25

x     7

Elisa tested 85.75mL of blood 

Step 1:  14.75 x 8 =   (need to know that it is a multiplication question)

Step 2:   15 x 8 =       10 x 8 =  80
                                    5 x 8 =  40
                                               120

Step 3:   The cost of the membership was about $120

$9.75

x     7

No Tianna only has $68.25

b) $80.45

   ­$68.25

    

Tianna needs  $12.20 more
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9 a) 4.01 x 5 = 200.5
        
Step 1: 4 x 5 = 20 

Step 2:  the decimal should be 20.05 not 200.5 

9 b) 7.893 x 3 = 23.679
        
Step 1: 7 x 3 = 21 

Step 2:  the decimal is correct

9 c) 89.85 x 4 = 35.94
        
Step 1: 90 x 4  = 360 

Step 2:  the decimal should be 359.4

9 d) 1.98 x 3 = 0.594
        
Step 1: 2 x 3  = 6 

Step 2:  the decimal should be 5.94

a) 1.375

   x       3
He sold 4.125 L which is more 
than 4 L.

b) $74.79

    x        3 He raised $224.37 for 
selling 3 bottles of 
maple syrup

8.812 

x     6

The combined mass of 6 
bats is 52.872 g
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$81.4 

x     2

162.8

Est 80 x 2 =160

Serena will be about 160 cm tall 
as an adult

Many answers

Step 1:  7.95 x 3 = 

Step 2:  8 x 3 = 24 (estimation)

Step 3:  795 x 3 =    700 x 3 =  2100
                                   90 x 3 =   270
                                      5 x 3 =    15
                                                 2385

Step 4:  7.95 x 3 = 23.85  ( I know where to put my decimal because of my estimation)

Step 5 (Question a)

  25.00
­ 23.85
     1.15   

She should recieve $1.15 in change

Step 6: (Question b)

2.268 kg each x 3 (he bought 3 bags) = 

2 x 3 = 6 (estimation)

2268 x 3  =  2000 x 3 =  6000
                       200 x 3 =   600
                          60 x 3 =  180
                             8 x 4 =   32
                                        6812

2.268 x 3 = 6.812 ( I knew where to put the decimal because of my estimation)

Saima has less than 7 kg of dog food.
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0.01 x 10 = 0.10.1 x 10 = 1

When you multiply a whole number by a decimal 
smaller than 1, the product will always be less than 
the whole number
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0.8 x 2 = 1.6
When you multiply a decimal by a whole number the product will be less then the whole number. 

Product is less than the 
whole number

http://www.virtualnerd.com/tutorials/?id=Gr6_03_01_0022

Don't copy

http://www.virtualnerd.com/tutorials/?id=Gr6_03_01_0022
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Ch. 3   Lesson 4 

Multiply decimals LESS THAN 1 by a whole number

When multiplying decimals, you do NOT line up decimal places 
BUT you line up numbers on top of each place 

0.47 x           8

  0.47

x     8

Step 1) Ignore the decimals until the end and multiply 47 x 8 
(Show work)

 47

x  8
30 x 6  = 180

  4 x 6 = 24

so 180+ 24 = 204

Or area model

Step 2) To replace the decimal, there are two methods

Method 1) Estimate!  This will help you place your decimal
0.47 is close to 1 whole

Estimation:  1 x 8 = 8

My answer should be around 8 but this is an over estimate 

So 0.47 x 8 = 3.76 since it is close to 8

Method 2) count the TOTAL number of digits after the 
decimal place in your original questions

0.47     Has 2 number after the decimal point

x 6      has Zero numbers after the decimal place

My answer should have only 2 number after the decimal 
place 

376

3.46

Be careful with this method.  Numbers ending with 5 
or zero does b/c some leave the place holder off. 
(Tricky when ask to estimate where decimal goes 
for 0.75 x 6  = 4.5)   
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0.52 x 3

1.  Change decimal to a whole number (do this whether 
the decimal is greater or less than 0)

 52 
x 3  

50 x 3 = 150
2 x 3 =  +   6

               156

2.  Estimate to place your decimal:  

­ 0.52 rounded up would be 1(1 whole)

­ 1 x 3 = 3  (3 wholes)
­ Move the decimal so that the product is close to 3 wholes 

­ 1.56

­ 0.52 x 3 = 1.56

Area model

50        2

3
Or 

over estimate
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0.0678 x 3 

1. Change the decimal to a whole number (benchmark)

2.  Estimate to place your decimal
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Class / Homework
page 101 

#1ad

#2ad (No chart)

#4a

#6a,b,c

#7ad
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a.  9x3=27 (est)

0.9 x 3 = 2.7
0.09 x 3 = 0.27
0.009 x 3 = 0.027

b. 25 x 6 =   20 x 6 = 120
                     5 x 6  =   30
                                   150

0.25 x 6 = 1.50
0.025 x 6 = 0.150
0.0025 x 6 = 0.0150

c.  18 x 4 = 72

0.018 x 4 = 0.072
0.0018 x 4 = 0.0072
0.00018 x 4 = 0.00072
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a.  359 x 5 =   300 x 5 = 1500
                          50 x 5 =  250
                             9 x 5 =   45
                                        1795

0359 x 5 = 1.795

b.  0.0112 x 9 = 100 x 9 =  900
                            10 x 9 =    90
                               2 x 9      18
                                          1008

0.0112 x 9 = 0.1008
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